| can identify number properties.

Number Properties Reference Guide

Commutative Property of
Addition

Definition:

Mumbers wan be addad
N Ny ordac ond gut
+he samne sum.
Numbers Example:

Associative Property of

Addition

Definition:

Numbers bueing adduad cea
o'y 9('0upu:1’ r'f ow-j L'J(X&j
and gt tha somL sum
Numbers Example:

Identity Property of Addition
Definition:

Tha sum oF anu NumbLe
ond O s that nurmbds

Numbers Example:

E+Q:=7 (l+3)+3:(.9 5+0= 5

Q2+ S5:=7 |+(g+3>:(& “B+0O:=-%
Algebra Example: Algebra Example: Algebra Example:
atb=C G +b)+c=d o+r0O= o
5o = o+t(b+c)=d bt O=b
Commutative Property of Associative Property of Identity Property of
Multiplication Multiplication Multiplication
Definition: Definition: Definition:

Numbers con be r*numplud

Mumbers bung multip ved

Tha product of any

10 any orowr and gd-'ﬂw con B groupdd in QY wey number ond | s Fhat
some gNsSwitr andk get th Semu answte | NUMbas

Numbers Example: Numbers Example: Numbers Example:
2:5=10 Q+3>:4=23y S«(=5

S«9=10 Q:(3.-4)= 2y E8 Y = -8

Algebra Example: Algebra Example: Algebra Example:

ob=c Lo, syl = o o] =0o

ba =¢C o (bec)=ol bel=b

Distributive Property Additive Inverse Property Multiplicative Inverse Property
Definition: Definition: Definition:

Mul-hp\w'ng o Sum by a
Aurnbor (s The Same as
muﬁcplalrm‘g bg Loch C(dd.ﬂ\d

Numbers Example:

Tha sum of eny numbec
end its OPPOSR; s O

Numbers Example:

The peooluct oF & number
ond ts reciprocal IS |

Numbers Example:

= Sl o
&(3+ 4)= 2(3)t 2(W) 5+(-5)=0 S F|
B+ =0 10 « l_l6 >
Algebra Example: Algebra Example: Algebra Example:
a.(b+tc)= abtac ot(-a)=0 o= ]
-btb=0 bk =i
Zero Product Property
Definition: Numbers Example: Algebra Example:
IF +he product of uwo 5+ 030 e b=0D
numbers 15 Q, ona of . ard
numbtes must buzero ¥ 0=0 & oF b=0D




| can apply number properties.

Why do we use number properties?
With Numbers: To solve problems GuuC il

J
With Variables: To cepresent all expressions

and Nt ol lu

Examples:

1) How can you use a property to solve this problem 2) How can you use a property to solve this problem
in your head? in your head?
15(2-9)

-6+72+(-14)+8
Which property did you use? Which property did you use?
(5:2):-9 = 30:9= 270 Lo+ (1Y) +77D +§

. . ~30 + 80 = LO
Associative O=v
Commutortve

3) Use TWO properties to help solve the problem. 4) Use TWO properties to help solve the problem.

(3-a)= %) -3.85 +18.21+3.85

Which ptope?*ties? Which properties?

coR ) ~3.85+3.85+ 8.2\
3 &

AR S| Qe 2.5 =<18eD |

ASSOC\Q‘*!UD"’ Mult, [nverse, Commutative s Add. lnverse,

Examples:
5 -2.09+(-42.18)+9.13 6) -2+(5+3)+(9+-3)
Which properties? : Which properties?
O+(-42.18) = -42.18 @r O+5=5S
Commutative -~ Associative

Add. Inverse.

y =9+ (5%)(G- "SL>

8 (-9+5)+2+3(1D+3(0)

Which properties? Which properties?
= e -l (.20 QeSS+ 0Oz
Associotive Assoclative
- lduﬁ'd'&
Mult. Inverse

Zer0O



